Attention Business Owners:

GET A TOTAL OF \$104,325.00 BUSINESS CREDIT.

THAT'S \$12,297.00 MONTHLY CREDIT

Get billed for only \$250/month for 36 months

ADVERTISE MASSIVELY NOW. PAY US LATER & WHEN YOU PAY US, SAVE \$12,000 MONTLY

This is called: The Business Booster Loan

This SPECIAL SALES PROMOTIONS is available to only a few business owners

- (1) Advertise your business every week for 36 weeks in the magazine. Save \$2,800 x 36 = **\$100,800.00**
- (2) Advertise every day for 36 months online. Save \$49 x 2 x 36 = \$3,345.00 ...and
- (3) Advertise every month by email to our 1 million spam free email recipients. Save: \$900.00 x 36 = **\$32,400.00**

LET US FIRST WORK HARD FOR YOU FOR 3 YEARS ON DISCOUNT & CREDIT. Pay us after as we go.

ADVERTISE MASSIVELY NOW. PAY US LATER

Just sign the credit contract below. See Page 7

PUBLISHED WEEKLY BY:

Money **MAKERSNEWS** Magazine A Division of:

Top Rank Business Associates Group of Companies, Inc.-USA Estimated Circulation: 800, 000 weekly

ADVERTISING RATES:

CLASSIFIED:

50 Words or less: \$35. add \$0.25 for each additional word (s)

Full Page:

7 1/2 " x 10 " = \$10,000.00

Half page:

 $7 \frac{1}{2}$ " x 5" = \$6,000.00



One Quarter of a page:

37/8" x 5" = \$2,800.00

One 6th of a page:

3 3/8" x 3 7/8" or 2.7" x 10" = \$1,500.00

Business Card Size:

31/4 x 2" =\$500

Border/Block ad.

2" x 2"= \$175 1.5" x 1" = \$100



WHAT CAME FIRST, **CHICKEN OR THE EGGS?**

Articles & Advertisers come first before Magazine is printed. See Raw Deals Below:

WANTED:

- *Journalist/Editor
- *Money Editor
- *News Columnist
- *Sports columnist
- *Horoscope Astrology columnist
- *Stock market Columnist
- *Travel News Columnist
- *Hotel & Entertainment Columnist
- *Events Columnist
- *Movie Guide Reporter
- *Photographer
- *Graphic & Desk Top Publisher
- *Internet Web Designer
- *Cartoonist

We offer good salary & compensations

Pls Contact:

Publisher

Maker News Magazine

c/o Top Rank Business Associates Group. 2107 Thome Ave. Ste 1471, Cheyenne, WY. 82001 USA

Email: personnel@gate4deal.com

Tel:307-633-3538 Fax: 888-317-3538



This is the 3 7/8" x 4 3/4". A quarter of a page

Get this for 36 weeks. That's 9 months.

To be distributed to 800,000 readers weekly. Print & Digital Copy at Website & Spam-free email pdf copy to members. USA & Canada now. UK, Europe & Others later

Look, If 800,000 people can view your ad. every week for 36 weeks and you paid only \$62.50 a week, \$250 a month.

That's damn too cheap

Even If you had paid \$9,000.00 a week. It'll cost you only \$0.01cent a wk to reach one magazine reader but paying \$9,000.00 for the entire 36 weeks is a steal of a deal. Yet. It's Free.

We are not just a magazine or a website. we are a consulting firm

Imaging up to 800,000 people dancing praises to your advertised deals and your competitors will be simply powerless

Note: One thing I knew for sure is, if you give us the chance to fight for you, we can make your business grow rapidly.

We are a reputable consulting firm since 1984 and was incorporated in the USA since 1998

Only \$250 per month

In a Bad recessionary year when the going gets really tough!

Only the toughest advertisers survive.

Be wise! Advertise.

Buy me! \$250 monthly reduced price

Not \$2,800 weekly

One Million e-mails a month to members is nothing. It's only 100,000 emails on 10 computers. Can be done in 4 hours.

Buy me! \$250 monthly reduced price

Not \$2,800 weekly

Now, Let's go.

Let's expose you to 800,000 readers for 36 weeks / 9 months

This is how your ad will look like.

You can change the content of your ad from time to time.

As soon as you approved it, we'll include it in the magazine

Just sign the credit contract below. See P.7

Your ad. page is still a blank page

ORDER FORM

Reach up to 800,000 Magazine Readers every week. Advertise your business!





ALSO GET THE (DOT.COM) INTERNET AD,

REACH UP TO 10 MILLION
BROWSERS DAILY WITH YOUR AD.
PLACED ONLINE AT WWW.GATE4DEAL.COM

We'll publish you immediately. Free for 36 months. Save \$3,528.00

A business that won't advertise is like a good car with no fuel

Be wise! Advertise.

Type, mount or	print you	<u>' ad. inside this</u>	<u>ad. box</u>	Save \$1	00,800
----------------	-----------	--------------------------	----------------	----------	--------

SALESREP

Name _			
Tel:			
Email: _			
_	_		
SalesRe	p's Cod	e	

Note:

Please fax or email this order form to us a.s.a.p

Fax: 888-317-4874

email:

advertising@gate4deal.com

ARE YOU A?:

- *Travel Agency
- *Insurance Broker
- *Mortgage Broker
- *Loan Companies
- *Paralegals

*Real Estate Broker

*Handy man

*Used Cars Dealers

*Accountants

*Bookkeeper

*Importer & Exporter Selling Products by

Mail-Order

*Home-Based mlm business owner

*Accountant

*Dentist

*Plumber

* and etc & etc

ENJOY A

FREE:
*36 months of

CLASSIFIED online advertising.

Reach up to 10 million browsers daily.

Save: \$49 x 36 months = Save \$1,764.00

PLUS A FRFF:

*36 months of COUPON DEALS online advertising.

Your potential
customers can now
print your discount
coupon online and
contact your business
to redeem their coupons

Save: \$49 x 36 months = \$1,764.00

PLUS A

*36 weeks of MAGAZINE advertising space

A (3 7/8" x 5")= One quarter page ad. inside our weekly MAGAZINE

Save: \$2,800 x 36

weeks =

Save \$100,800.00

Knock Out (K.O.) your competitors.

You pay only \$62.50 a week or \$250 a month for such a huge ad space and two other services.

Look, we (ourselves) are advertising in other newspapers & magazines as well. For instance, I just signed a 39 weeks (tiny 4-line ad) contract with the USA today newspaper about 3 months ago. That's July 2013. We are now paying \$150 weekly x 39 = \$5,850.00 Contract is still active.... should we default on the contract, then, we'll be billed a full \$299 a week or so for such a tiny little 4-line word, borderless ad.

Wanna see a copy of our contract with USA Today Newspaper? Ask for it



AGREEMENT TO:

RECEIVE A \$104,325.00 BUSINESS CREDIT FROM THIS COMPANY

Memorandum of Understanding

I WOULD LIKE TO ADVERTISE MASSIVELY NOW & PAY YOU LATER

I will use \$3,074.25 OF YOUR MEDIA & ADVERTISING services every week.

That's \$12,297.00 monthly credit. However, this company promises to bill or invoice me to pay only \$250.00 monthly for 36 months. That's only \$250.00 x 36. only \$9,000.00

THIS COMPANY WILL PROVIDE ME WITH THE FOLLOWING SERVICES:

- (1) One quarter page Magazine Classified Advertisement every week for 9 months / 36 weeks. Similar to USA Today MarketPlace Classifieds
- (2) Online advertisement every month for 36 month. Similar to Groupon, craiglee, Toronto Sun Online
- (3) Online email 'deal alert' to 1 million spam free deal bargain hunter every month for 36 months. Similar to Groupon & others

This Contract once notarized becomes duly accepted and a legal document. It is, therefore, legally binding

To: www.GATE4DEAL.com. (A div of Top Rank Business Associates Group.)
Tel: 307-633-3538 Fax: 888-317-4874 Fax your contract now

My Name		Tel:()			
	ame		Tel ()		
Address				Suite #:		
	State/Province					
Country	Email:					
Signature		Date				
	TO YOU, THE CLIENT. Signature on Behalf of: Top	•				
	Name: Dr. Israel Fagbemi					
Witnessed B Name Address , sig	y: Commissioner For Oath on the contract of th	or Notary Pub	olic:			